R 2] H=E
RELIX 001 1#7201-1
FEIX 002 12012
KX 003 122021
KX 004 12202-2
FEIX 005 1#203-1
IREEIX 006 142032
ERX 007 12204
ERX 008 14205
FEIX 009 10206
FEIX 010 1207
RELIX 011 127208-1
FRIX 012 12082
KX 013 1242091
KX 014 12209-2
FEIX 015 1#210-1
HRIEIX 016 12102
FRIX 017 1#301-1
KX 018 12301-2
KX 019 123021
FRIX 020 1#302-2
RELIX 021 1£0303-1
FRIX 022 13032
KX 023 14304
FEX 024 12305

RIX %5 =
HREZIX 025 1#306
HRIX 026 124307
HRX 027 123081
LK 028 12(308-2
HRIX 029 123091
RELX 030 1#7309-2
HRIX 031 12(310-1
LK 032 12(310-2
LK 033 1%0401-1
HRIX 034 1%401-2
RELX 035 1#402-1
HRIX 036 1%402-2
HRX 037 1%(403-1
LK 038 1%403-2
HRIX 039 120404
HREEIX 040 1#405
HRIX 041 12406
HERX 042 12407
HRX 043 124081
HRIX 044 124082
HREZIX 045 1#7409-1
HRIX 046 124092
HRX 047 1%(410-1




